0000000000 Nod4

1. (FMOODOOOODO)

0000000 w. 000000000 y(t) = Acosw.t—Adm(t) sin w.t
00000000000000000m(y) 0000000000000
O0000oooooooo0o0oooooooooo00ooooog 60
gbooooobooooogd

2. (FMOODOODOODDOOOOD)
goooooooooboobooooooboooobooooooooooon

3. ( BasebandPAM 0O00D0D0O000)00000O0O0OOOOOz(t)O

(o)

ot) = Y auglt—kT)

k=—o0

gooooooao

o0 {1 It| < T/2

0 T/2<|t

0000000000000000000 2()0000000000
00 S,(f)000000000

a, 000 1000000
a, O (=) 00O0O0

)

)

)a, 0 £100000000000000

) ar 0 £1,4300000000000000
)

a,=b,—b,_, 0000, 0 £1000000000000D0O



